
等しい分数           1 枚目 （全 3 枚中）                                 https://juken-kids-from2023.com/

分数が同じ大きさになるようにあてはまる数字を答えなさい 

1
=

(      ) 1
=

（       ） 4
=

28

2 10 5 30 5 (      )

2
=

10 1
=

9 9
=

(      )

7 (      ) 7 (      ) 10 80

1
=

(      ) 3
=

(      ) 1
=

6

3 21 4 12 7 (      )

1
=

6 1
=

(      ) 1
=

9

5 (      ) 2 14 2 (      )

1
=

(      ) 7
=

21 4
=

(      )

2 12 10 (      ) 7 49

4
=

16 2
=

(      ) 4
=

(      )

5 (      ) 3 21 7 42

5
=

(      ) 1
=

4 4
=

8

6 54 2 (      ) 5 (      )

5
=

25 4
=

12 2
=

(      )

6 (      ) 7 (      ) 3 21

3
=

(      ) 5
=

40 1
=

5

5 15 8 (      ) 6 (      )

8
=

24 1
=

(      ) 1
=

9

9 (      ) 2 12 2 (      )

5
=

(      ) 5
=

(      ) 1
=

(      )

7 28 7 21 2 6
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等しい分数           2 枚目 （全 3 枚中）                                 https://juken-kids-from2023.com/

分数が同じ大きさになるようにあてはまる数字を答えなさい 

2
=

16 2
=

16 2
=

16

5 (      ) 3 (      ) 3 (      )

1
=

(      ) 2
=

(      ) 1
=

(      )

2 6 5 25 2 18

1
=

(      ) 1
=

6 1
=

2

2 18 2 (      ) 4 (      )

2
=

18 9
=

(      ) 1
=

(      )

7 (      ) 10 80 2 18

7
=

(      ) 5
=

15 1
=

(      )

8 72 6 (      ) 3 24

3
=

(      ) 1
=

(      ) 1
=

7

5 35 2 8 7 (      )

1
=

6 1
=

(      ) 2
=

(      )

9 (      ) 2 4 5 25

1
=

(      ) 3
=

18 1
=

3

5 30 4 (      ) 6 (      )

2
=

(      ) 3
=

(      ) 1
=

(      )

7 21 8 24 2 14

2
=

12 2
=

(      ) 2
=

8

3 (      ) 3 27 5 (      )

2
=

(      ) 1
=

(      ) 4
=

(      )

3 21 6 24 9 72
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等しい分数           3 枚目 （全 3 枚中）                                 https://juken-kids-from2023.com/

分数が同じ大きさになるようにあてはまる数字を答えなさい 

4
=

36
9

2 2
=

10
5

1 1
=

(      )

9 (      ) 9 1 9 (      ) 6 1 6 24

1
=

(      )
2

1 1
=

(      )
8

4 2
=

16

2 4 2 1 2 16 6 2 3 (      )

5
=

25
5

3 3
=

12
4

3 3
=

(      )

7 35 8 1 8 (      ) 4 1 4 32

1
=

6
6

1 1
=

(      )
7

2 2
=

10

3 (      ) 6 1 6 42 3 1 3 (      )

2
=

(      )
4

1 1
=

6
6

1 1
=

(      )

5 20 2 1 2 (      ) 2 1 2 6

3
=

(      )
9

1 1
=

(      )
6

3 3
=

(      )

8 72 7 1 7 42 5 1 5 35

5
=

(      )
5

1 1
=

(      )
3

1 1
=

3

9 45 8 1 8 24 7 1 7 21

1
=

(      )
9

2 2
=

12
6

5 5
=

10

7 63 3 1 3 (      ) 9 1 9 (      )

1
=

6
6

2 2
=

(      )
3

1 1
=

(      )

2 (      ) 3 1 3 9 3 1 3 12

2
=

(      )
4

3 1
=

4
4

4 1
=

(      )

3 12 6 3 2 (      ) 8 4 2 12

1
=

(      )
6

4 1
=

(      )
8

1 1
=

(      )

3 18 8 4 2 16 9 1 9 45
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